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And Chomaytz; it is not to be left over — 179010 H232 X7 9T 1??:111

OVERVIEW

»" compares M1 to yxn, that by both of them there is the MoX of 1°nn 93;” they
are not to be left over (after a certain time). Therefore since they are similar we can
derive the 719w 2111 by y»an from the 719w 21 by M1, Our mdoIn qualifies the
similarity between ynm an.

nooIn asks:
= N¥1% D2 AN D22 1IONRY 9N 1IN Y 37’)’5 493y 990 PN 13939 NN

The 5''1 is astounded! How did 777 " previously make a ' from 201, where

there is no Xx»° 921 78" 2 (by 1) -
- “AN9 Y32 9195 19PN Ya X9N 2PUN KDY

But here "1 considers 17°nn 2 (which is written by 7n11) the same as 77873 Ha!

MooIN answers:
= 929N D 929VW TrayT AN DIPN YINT PNYY 13529 9IIN)

And the >''1 answers that notwithstanding the above it appears that °"7 made a
proper'p -
- 59239 939N 2IWY 72IY PMAY 0T AND Y23 1IN INT
For there is no >''3 by amz, since as soon as he left over the o°w7p past the
allotted time he transgresses the prohibition of 17°min X% once, but he
transgresses it no more -
1ANT? 923 YWY 993 9299 MY INNRY 1999 PN YaN
However by y72n even if he left it over, he continuously transgresses 787> %2 all
the time (until it is destroyed). Therefore yan which is continually 710X is more severe than 20

" In our X773 the text reads, 17°mMn 922 yam (instead of 17°Mn %22 K17 7 yam).
% See ynn "7 >"w", that regarding y»m, the 10K of 1°mn 22 is the DMK of X¥H® K AKX XY
? Initially *"1 on 2,15 derived the 75w 21 by y2n through a 1"p from 2m3; if by 11 (which is not that severe) where
there is no prohibition of >"21 "2 by 71, nevertheless it needs to be burnt, so regarding y»r (which is more severe)
where there is an 710°R of >"21°"1, it should certainly be burnt.
* 2" is deriving y»n from 2mi by claiming they are similar for by both of them there is the Mo°X of 1>mn .
However it does not state 17°nn 92 regarding yan (only regarding 2n11). It is obvious that "1 considered the *"21°"2
which is written by y»an to be the equivalent of the 17°11n 92 which is written by 2011 (and vice versa that the Y7°mn 22
which is written by 7n1 is the equivalent of the *"21°"2 which is written by y»m). Now since they are equivalent, how
can *"1 state previously that Y1 is more severe than 7m1, when here > claims they are the same.
> The MR by 2011 is (P12 7Y 11m1) 1m0 XY; as soon as it remained until 712, he transgresses, however there is no
additional transgression (of »°mn X?) if it remains a while longer
% The prohibition of *"21>"2 is a continual one, since one may not have y»n in his possession on fos.
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where there is only a one-time M0X.

SUMMARY
The 70°R of 17°MN X2 by 7M1 is a one time Mo°X; however the M0°X of °"21 "2 by
v1n is a continual MOR.

THINKING IT OVER

Are the 20°R of MmN %2 and °"21 °"a equivalent to each other (as mM»oon
maintains in his question) and we can derive y2n from 7M1 with a 1°X»n 77, or are
the 2>10°% of 17°MN 92 and °"'21°"2 different from each other (as N190N maintains in
his answer) so we can make a 1"'p (but how is it a proper 1°X» )2’

" See (1"7Y) in AnMA K.
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